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2021 = =0 & L3 H S E A

SH SNEHY
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
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= 9,414,563
s 730,130
J| 245,636
Al 7,241,091
- 3,156,716
NAANSEE B 4,458,669 4,194,677 263,992
2 364,444
s 730,130
Al 2,706,822
- 657,273
MBI=X OI8t 5 2,177,501 1,882,281 295,220
=2 364,444
Al 1,458,743
- 354,314
S0 =& 59,627 49,311 10,316
201 et 28,292 29,926 AN 1,634
01 At 2teltl 21,800 22,500 A700
O 1. Let=ZH| 21,800
—XNIMEFAE ML WA
18,000 * 100& 1,800
— & NIAIEHSEAM SatAHHl K&
1,000,000 * 100 &= 10,000
— & NAEB2ZE2ANM 298 XA
1,000,000 * 100 &= 10,000
02 3323l 492 426 66
O1. 3323 % HA 492
—=TASA HaY MR
5,500 * 20 & = 12& 132
— Mol 2SS X 8EHLI 3
30,000 = 12& 360
03 #HAL2 Z Hl 6,000 7,000 21,000
O =g=2X2 & J1g &M S 6,000
203 PR =&l 12,735 12,735 0
03 Al =X A2 =X 12,735 12,735 0
O 2X8A2 = AlM =7
12,150,000 * 0.9 10,935
O XNYGASIEZEAN &2 =&
2,000,000 = 0.9 1,800
303 Z& = 900 900 0
01 Z& 3 900 900 0
O ASIZ2XNYR 23 A& 700
—i® 300,000 * 1= 300
-2 = 200,000 * 1= 200
-& d 100,000 * 2= 200
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05 RIZERI & 3 4,600 3,750 850
O & AFZ X ZH 2| 800,000 * 5 4,000
O 22X DAz 300,000 * 2+ 600
308 MXIEHSOIH 12,000 0 12,000
11 32SoHUHSI S HAE ALS HI 12,000 0 12,000
O 5Jl NSAMBEHHE =8 28 XNIAAL
FXEA EY 12,000
405 XtAtE SHI 1,100 0 1,100
01 XAt = ZFH S| 1,100 0 1,100
O =2XJ18 R TE= 1,100,000 * 1CH 1,100
NAASEHEAM M2=2 2 N (EZAY) 99,300 0 99,300
Al 46,200
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307 glz2tol & 99,300 0 99,300
Al 46,200
- 53,100
03 BIAHNHE2IHIEL 99,300 0 99,300
O XNGAIEFEAM AAR= 2gH K& 99,300
Al 46,200
- 53,100
QIZEAMSI S XA & HRME 60,000 60,000 0
301 LA S 60,000 60,000 0
12 JIEtE4 3 60,000 60,000 0
O YA EX AL & HRIH&HI
20,000 » 250 * 12& 60,000
ZEAEI SR E 2YHI(EZAY) 1,467,200 1,431,200 36,000
Al 1,336,500
T 130,700
307 glz2tol & 1,467,200 1,431,200 36,000
Al 1,336,500
T 130,700
10 ALSISXAIEEE 2 EX 1,467,200 1,431,200 36,000
O RASEMIEXZ 2EH 731,100
Al 665,750
- 65,350
O EExIESAMIIENZ 2| 736,100
Al 670,750
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T 1,000
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Al 53,000
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- 1,000
O ZEEn= 50,000
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NEEEN N EICEID 364,444 221,000 143,444
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B AISISRILZ A= 364,444 221,000 143,444
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201 Bt A H| 2,370 2,170 200
02 3524l 2,370 2,170 200
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O 4. XH&E - | 1,940
- 3ENY FRO(FLESR)
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— 221 2H(FEY =8)
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ALSI S X 243 2,281,168 2,312,396 N 31,228
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 It M AHE L 37,000 40,000 A 3,000
O Bt 39483 Atd X 37,000
— M2 olsl 6.25 JI8AtE X & 9,000
—d0lZEa AMEH XI& 4,000
—dESZ2ZRES AHZH XI& 4,000
—dEZZ0IYel AFHH X 4,000
—RZ=EX3E ArHHl K& 4,000
—DEHMELE ASHl X 4,000
—6.25&8 8 REXal ALHl X# 4,000
—EJddEENE AHEHl K& 4,000
03 HAHMEE2LHES 76,000 70,000 6,000
O 28t 24gs 2494 X& 76,000
—MHEgZolg 24 K& 3,000
—d0=zZZs 234 X 9,000
—dE2ZdREY 294 N 9,000
—d28ZZ0/2eg 29H XA 9,000
—R3x==ltz 2<¢€4 N& 9,000
—NEMERs 2H X 9,000
—6.258 873X 2EH N 9,000
—EddEENE 22 A 9,000
—&=3 294 A& 5,000
—EXURRS e 224 XN 5,000
HHRTA UL (BEALY) 960,000 984,000 24,000
Al 960,000
301 LetE2H = 960,000 984,000 A24,000
Al 960,000
01 MEI2EZE+06l= 960,000 984,000 A24,000
O R33N =<
100,000 = 800 » 12& 960,000
Al 960,000
PEHHSL (B AY) 79,200 79,200 0
Al 79,200
301 LEd = 79,200 79,200 0
Al 79,200
01 MI2ZHE 6= 79,200 79,200 0
O E=d0d=¢ 30,000 = 220 = 12E 79,200
Al 79,200
KNSMSMHIA SEXAS (XIGHLEE ) (EZAY) 1,040,344 1,053,890 N 13,546
= 728,240
Al 208,069
T 104,035
308 XXM SO A 1,040,344 1,053,890 A 13,546
= 728,240
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s 728,240
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- 104,035
KNEAZMHI A SXAY 2L (22 ALY) 2,700 2,700 0
s 1,890
Al 810
201 Let24d] 2,700 2,700 0
s 1,890
Al 810
01 At 22l 2,700 2,700 0
O XNIASIMHA ETAMY B2 2,700
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250,000 = 1CH * 23] 500
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O &4 M
(60,000 * 15JH) + (120,000 * 49H) 1,380
O g=2elsd A 400 = 3,000H 1,200
301 LA F 2,970 2,970 0
09 SALEHIX RS 2,970 2,970 0
O =&l 8,000 = 182 = 1500 A 2,160
O 2+HAlH]| 3,000 = 18 = 1500 810
FHAAHSX A 1,970,800 1,535,246 435,554
= 1,152,600
Al 327,400
- 490,800
Aa2=XX& 1,500,000 866,000 634,000
= 1,080,000
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T 176,800
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Al 110,000
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301 LptR M3 400,000 0 400,000
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Al 133,200
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01 2222l 7,500 7,500 0
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= 1,500
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O At ZelAg2d 25235 s N 4,500
= 2,250
Al 1,125
T 1,125
S At el At K& 9,900 9,300 600
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01 At 22/l 9,300 9,300 0
O &£2489d X2l 50,000 = 8% = 123/ 4,800
O 2= AtdllE &2t S 3,000
O MolZelaXt 7 42 25
5,000 * 3009t 1,500
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—SXNZAME HEZ MERS
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HAAES HUXSXAS (EZAL) 9,000 0 9,000
= 6,300
Al 1,350
T 1,350
401 A& HIZ 201 Y] 9,000 0 9,000
= 6,300
Al 1,350
T 1,350
01 A& HI 9,000 0 9,000
O MASS-Le0=Z uH 9,000
= 6,300
Al 1,350
- 1,350
SN &= 38 XA 6,000 6,000 0
301 LA F 6,000 6,000 0
05 8% -0 -tEESEHS 6,000 6,000 0
O S&() 2XNz<0 =4l
30,000 = 200 6,000
SEEAMUA X 18,400 19,850 A 1,450
201 L2l 18,400 19,850 A 1,450
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01 At 22l 18,400 19,850 A 1,450
O o=sJ, HEg2 =& 12,350
— 0257 88 g% 70,000 = 1074 700
—SXE eHHM M= 10,000 = 1,000% 10,000
—OtHASEHEJ ZAHH H&
55,000 * 30K 1,650
O 2ot &2, D=SAM Y =4 3,050
—STNAMIXN 2=, DA Ol =9
70,000 = 1504 1,050
—HYMU SXCtLH 22, MK
400 = 5,0000H 2,000
O oagd, AdXotd MY 29 3,000
—i2agse 22 =85 MH 5,000 * 600H 3,000
SHE AEE SEAMUA XA (BEZALY) 84,000 84,000 0
= 58,800
Al 12,600
T 12,600
201 et 42,000 33,600 8,400
= 29,400
Al 6,300
- 6,300
01 At 22l 37,488 33,600 3,888
O Atell2el2Zdl 37,488
= 26,242
Al 5,623
T 5,623
02 =224l 4,512 0 4,512
O dES Sl 4,512
= 3,158
Al 677
- 677
307 21201 A 42,000 50,400 A 8,400
= 29,400
Al 6,300
- 6,300
01 =L =4l 42,000 50,400 A 8,400
O Atell el Xl &l 4,200,000 * 1000 = 42,000
= 29,400
Al 6,300
T 6,300
OI2SIIAY & HEAS N2 212,000 80,000 132,000
301 LEXZ 212,000 80,000 132,000
01 MEIEZE 406z 210,500 78,500 132,000
O Masol Moty K& 210,500
— A - F=AH s 500,000 * 802l 40,000
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— SUDAY - WAL A4 XS
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O PADIAILX - MEZE QAR X& K3
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Al 59,000
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Al 4,000
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4 Y BS 1,140,220 1,090,439 49,781
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Al 321,822
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HrU 84 Y 25
Zo|xol HAW BRH - 25

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
Pl 8,200
Al 6,150
- 6,150
11T AISIEXAIEEX 20,500 20,500 0
O &dAHE HESEOE 29X 20,500
Jl 8,200
Al 6,150
- 6,150
HAHE =S0tel XN (EXZAY) 23,870 23,870 0
J| 9,550
Al 7,160
- 7,160
307 2I2t0| ™ 23,870 23,870 0
J| 9,550
Al 7,160
5 7,160
11 A EXAIEE X 23,870 23,870 0
O &dAHE sotel X& 23,870
J| 9,550
Al 7,160
- 7,160
HEAEHENHALKLS 2 (BEXZ ALY 2,800 2,800 0
J| 1,400
- 1,400
307 2iz2to| A 2,800 0 2,800
J| 1,400
- 1,400
11T AISIEXAIEEX 2,800 0 2,800
O #3AHUEWRAYS &4 2,800
J| 1,400
- 1,400
HAGQWMNSHZAS N (EX 5,800 5,800 0
= 2,900
Al 2,900
307 QI2t0| ™ 5,800 5,800 0
= 2,900
Al 2,900
11T A EXAIEEX 5,800 5,800 0
O dAERMNEE ZAIE
29 5,800
= 2,900
Al 2,900
HAE AHLUXFAIS(EZALY) 41,538 37,884 3,654
= 20,769
Al 10,385
- 10,384
301 et A =2 41,538 37,884 3,654
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x 5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 20,769
Al 10,385
- 10,384
01 Al B & A 46 2 41,538 37,884 3,654
O &dAHE HALXIAL 41,538
= 20,769
Al 10,385
- 10,384
HAE EEXHF(MHETY, ALXNFE)(BEXZALY) 4,332 4,000 332
J| 3,032
Al 1,300
301 et M= 4,332 4,000 332
J| 3,032
Al 1,300
01 AMFSIEXEE 4562 4,332 4,000 332
O &dAHE EEXNIAY 4,332
J| 3,032
Al 1,300
st g FAad X (BXRALY) 130,553 124,794 5,759
J| 88,195
Al 18,899
- 23,459
307 2Iz2t0| A 130,553 124,794 5,759
J| 88,195
Al 18,899
- 23,459
11T A EXAIE EX 130,553 124,794 5,759
O &n & #4449 XS 125,993,000 = 1JH A 125,993
J| 88,195
Al 18,899
- 18,899
O S0Ex Xg Juegz 4,560
st g H3AaUd ZAH XA (EXZALY) 11,268 0 11,268
J| 5,634
Al 2,817
- 2,817
307 2I2t0| & 11,268 0 11,268
J| 5,634
Al 2,817
- 2,817
11T A EXAIEEX 11,268 0 11,268
O s g 3AYW 24 K& 11,268
J| 5,634
Al 2,817
5 2,817
st g AW ZAIH XA (AHEZALY) 1,656 0 1,656
Al 1,656
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307 glz2tol & 1,656 0 1,656
Al 1,656
11T M SRASE EX 1,656 0 1,656
O &mw & Fa4d oAHl XA (AIHl =0t
2) 1,656
Al 1,656
HAHGMMU2AAML (BEAY) 97,470 96,800 670
= 48,735
Al 24,368
- 24,367
307 gl2tol & 97,470 96,800 670
= 48,735
Al 24,368
- 24,367
05 RIZHRIE 3 97,470 96,800 670
O Faxgetdy 25 29 X 97,470
= 48,735
Al 24,368
T 24,367
HAEATSMSAL (BEZALY) 160,096 162,000 A 1,904
Al 80,048
T 80,048
307 glz2tol & 160,096 162,000 A 1,904
Al 80,048
T 80,048
05 RIZt2IE = 160,096 162,000 A 1,904
O Ead NaEgAE 24 160,096
Al 80,048
- 80,048
HAESEIA T2 2G(EXAY) 112,580 122,940 210,360
= 56,290
Al 28,145
- 28,145
307 21201 A 112,580 122,940 210,360
= 56,290
Al 28,145
- 28,145
05 BIZHRIE 3 112,580 122,940 A 10,360
O HAHSUR Z20Y 2Z (24, Mg
gHl) 112,580
= 56,290
Al 28,145
- 28,145
HAGASEN T2 2 (01222 2)(EXAMY) 16,738 16,460 278
Al 8,369
- 8,369




SA: 2X™ 2
¥ AW 88 L 25
ol HOMQl HAW 84 - 25 CERE)
x 5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 16,738 16,460 278
Al 8,369
- 8,369
05 QIZ2tREF 2 16,738 16,460 278
O HAESEHA D2 S (EAEEZ2 L A
SIEEZ) 16,738
Al 8,369
- 8,369
HAUEHSEXNIAANE 2RI (EXZAY) 70,000 54,170 15,830
J| 35,000
Al 35,000
307 2Iz2t0| & 70,000 54,170 15,830
Jl 35,000
Al 35,000
10 M SXAANEEHESIGHEX 70,000 54,170 15,830
O HAUEUS=EXNIANE A 70,000
J| 35,000
Al 35,000
HAERSI9E 29 217,450 197,450 20,000
307 giztol A 217,450 197,450 20,000
05 QIZ2tE 2 217,450 197,450 20,000
O #3AUE239E &4 197,450
O B3AEHRSIOE HAE 2 HE AMETRS(
FOLERO Ol AF) 20,000
HAERSOE 2R 2H(EXALY) 2,000 2,000 0
J| 1,000
Al 1,000
307 QI2t0| & 2,000 2,000 0
J| 1,000
Al 1,000
11T A EXAIEEX 2,000 2,000 0
O dAEIRS & Y9 34AE EHOHIP 29 2,000
J| 1,000
Al 1,000
HAEX S A IR X2 (EXAY) 23,208 22,980 228
J| 11,604
Al 11,604
307 2Iz2t0| & 23,208 22,980 228
J| 11,604
Al 11,604
02 DIZIEAAIE E X 23,208 22,980 228
O EAEXT AN Q124H]| 23,208,000 » 1H 23,208
J| 11,604
Al 11,604
HAEYGNSOIIIMI0 2 (BEXZALY) 164,042 172,572 A 8,530




2N

il =}
Y AW RH L 25
o9l FoNol FAW 8425

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 82,021
Al 82,021
307 glz2tol & 164,042 172,572 A 8,530
J| 82,021
Al 82,021
05 RIZHRIEt 3 164,042 0 164,042
O Fa4@ g of3tdol 24 164,042
J| 82,021
Al 82,021
HAEZLNSO05tdI0l 2SN QI22E3) 10,900 0 10,900
307 21201 A 10,900 0 10,900
05 RIZt2IEt = 10,900 0 10,900
O ZBAH 2u% 0iotdl0l 2SR (0122
32) 10,900
Ots=RX & 12,729,014 11,686,239 1,042,775
= 7,606,769
Al 3,835,021
T 1,287,224
LES0ts A4 3,794,427 2,797,259 997,168
= 664,058
Al 2,403,381
T 726,988
Ots=XALE =& 450 200 250
201 Let24E] 450 200 250
01 At 2t 2l 450 200 250
O 1. gBt=8Hl 450
— A} L 23l 39 =H 90,000 x 53 450
=20s A& 5,200 5,292 A2
203 @R =&l 1,200 900 300
03 Al Z=XH R =X H| 1,200 900 300
O 2E30ts dZA 30,000 * 409 1,200
301 LEEXZ 4,000 4,392 A 392
01 MEIBEZE 06z 4,000 4,392 A 392
O RES0t= otAHl=&AHl XI& 4,000
— B AEESOt=S 100,000 * 40 4,000
HAZSH(OISEXNANE (SR )=S ) (EZAY) 151,000 120,000 31,000
= 135,900
Al 15,100
301 LEHZ 151,000 120,000 31,000
= 135,900
Al 15,100
01 MEI2EZE+05l= 151,000 120,000 31,000
O OtSEXANE=2X HASH(SARH) 151,000




SA =2XNEMD

H“]l;
3 ots=EX 58
S 2

e RES0 A=Y (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 135,900
Al 15,100
OlSEXAAE 2IHI(BEXAY) 1,466,600 1,512,700 N46,100
Al 1,466,600
307 QI2t0| ™ 1,466,600 1,512,700 N46,100
Al 1,466,600
10 Al SXAIEEE2IHIEX 1,466,600 1,512,700 N46,100
O OlsEXAE 89| 1,466,600
— S ALA 21 A HI 1,399,840
Al 1,399,840
— ZALAF EXEOE 2,700
Al 2,700
— 29t 61,340
Al 61,340
— Al&E0ts & AKX & HI 2,720
Al 2,720
OISUSAIE oEB2 SAWMH N (2EAY) 2,000 2,900 A 900
Al 2,000
307 QI2t0| ™ 2,000 2,900 A 900
Al 2,000
11 AMISAAEE X 2,000 2,900 A 900
O Olsd=sAlE otd2e| HIMAH NS 2,000
Al 2,000
NEOIS AHSLNA (BEAY) 28,000 26,226 1,774
Al 28,000
307 212t0| & 28,000 26,226 1,774
Al 28,000
11 A SXNAEE X 28,000 26,226 1,774
O Ots=XAE HEEHdXH 28,000
— AMA0ls nsEd & 5,608
Al 5,608
—AN&0Is 8= XN& 13,312
Al 13,312
— A&E0lsS st K& 1,453
Al 1,453
— Al&0ts StAH=etdl A& 1,152
Al 1,152
—AMA0ls GOJIMAH XN 3,312
Al 3,312
—A&0ls st&5E2xH A& 2,163
Al 2,163
—A&E0ls Meld8MXEH X 1,000
Al 1,000
AAS XNsots NN (EXZAY) 5,660 11,220 A5,560
= 3,962




SH SNEHY
o Ols=x S

H: RESOls Hde8s4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

Al 1,698

307 2iz2to| A 5,660 11,220 N5,560
= 3,962
Al 1,698

11T AISIEXAIEEX 5,660 11,220 AN5,560
O AN Xsots NEXHA 5,660
= 3,962
Al 1,698

RESOIE OEE 2 (BT AY) 86,643 86,250 393
= 34,658
Al 51,985

307 QI2t0| ™ 86,643 86,250 393
= 34,658
Al 51,985

10 A SXAEHE2EHIEX 86,643 86,250 393
O 188 2SN (1) 86,643
= 34,658
Al 51,085

OlsSSHEINE SMA EXNE(EXAMY) 11,485 7,200 4,285
Al 11,485

307 21201 & 11,485 7,200 4,285
Al 11,485

10 A SAAIEHIESSHIEX 11,485 7,200 4,285
O OtsSSSHUEIE SAX X< 11,085
Al 11,085
O SALR SXRAE 400
Al 400

SSHEINE BS0tS XU (EXALY) 15,200 18,868 23,668
Al 15,200

307 glztol & 15,200 18,868 23,668
Al 15,200

1A SXAIE E = 15,200 18,868 A 3,668
O Ssd&itd 230sX& 15,200
Al 15,200

SHIIoiOls MY ZSMHEINE I (EXZAY) 27,315 25,000 2,315
Al 27,315

307 21201 & 27,315 25,000 2,315
Al 27,315

10 AR SAAEHISSHIEX 27,315 25,000 2,315
O siloiots 8188 22X 27,315
Al 27,315

SSMEIY ord2:H XA (BEEAMY) 900 0 900
Al 900

307 21201 A 900 0 900




SH SNEHY
o Ols=x S

Ol RES0E AWSA GEERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 900
11 A SAAEE X 900 0 900
O SSMEIIE ot 2eldl X 900
Al 900
AEAEIIARE AIE0IES HESES(EXIAY) 3,150 38,500 N 35,350
Al 3,150
301 dEtE X = 3,150 38,500 AN 35,350
Al 3,150
01 A E & A %35 2 3,150 38,500 A 35,350
O I8, O8&, MEONSES HesE2
3,150,000 » 1H 3,150
Al 3,150
BSES0s NELY N (BEXAY) 226,800 122,400 104,400
= 181,440
Al 45,360
301 dEtE X = 226,800 122,400 104,400
= 181,440
Al 45,360
01 M EXEE LG5 2 226,800 122,400 104,400
O BS3=20s MExY K&
300,000 = 63 * 12& 226,800
= 181,440
Al 45,360
IIEAEOIS S NEHEHZ X (EXAY) 94,000 80,000 14,000
Al 94,000
301 et M= 94,000 80,000 14,000
Al 94,000
01 MBI EXEE G2 94,000 80,000 14,000
O OlsL=EAlE EA20s, IJFE8FE, 1850t
s NEXE 94,000
— &0 OF 7,000,000 x 2H 14,000
Al 14,000
— HI &0} OF 5,000,000 » 16%Y 80,000
Al 80,000
IE/AE X (EXALY) 77,360 63,000 14,360
Al 77,360
301 et M= 77,360 63,000 14,360
Al 77,360
01 MBI BEEAESG2 77,360 63,000 14,360
O JIEfs dXA 77,360
Al 77,360
QIUDIAMQEOIS AEIXE KNI (EXAY) 2,800 3,000 A 200
= 1,960
Al 840
301 deEtE X = 2,800 3,000 A 200




SH SNEHY
o Ols=x S

H: RESOls Hde8s4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,960
Al 840
01 Al B & A 462 2,800 3,000 A 200
O dAdIIE/AEOtsS Aelxl 2l 2,800
= 1,960
Al 840
UAOIS NHEXNH (LKLY M) (2XAY) 56,000 63,000 A7,000
= 39,200
Al 16,800
301 et M= 56,000 63,000 AT7,000
2 39,200
Al 16,800
01 AMFSIEXEE 4562 56,000 63,000 AT7,000
O gAd0ts == 56,000
2 39,200
Al 16,800
olotHlg X (EXAY) 2,700 8,600 A5,900
2 1,890
Al 810
307 2Iz2t0| & 2,700 8,600 5,900
2 1,890
Al 810
11T A EXAIEEX 2,700 8,600 A5,900
O gy XA 2,700
= 1,890
Al 810
Qo=EFIS(EXAY) 1,000 1,000 0
Al 1,000
301 et A =2 1,000 1,000 0]
Al 1,000
01 Al B & A 462 1,000 1,000 0
O g%=5t2 1,000
Al 1,000
A0S JISX (HMoIs geu=LE ) (B 9,000 9,524 A524
EAY)
2 6.300
Al 2,700
301 et A= 9,000 9,524 N524
= 6,300
Al 2,700
01 Al B & A 462 9,000 9,524 NB24
O Zoiols A& 9,000
= 6,300
Al 2,700
o0l BN (LUUY=HI|2t DHANA2)(EZ A 700 1,400 AT700
o)




SH SNEHY
o Ols=x S

S e

tel: RES0ts AEsL (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 490
Al 210
301 LEAZ 700 1,400 AT700
= 490
Al 210
01 MEI2EZE+05l= 700 1,400 A700
O gd=dJI2 2NHXE3 700
= 490
Al 210
OtSZE XA (EZAY) 124,140 124,140 0
= 86,898
Al 37,242
301 LerEAF 124,140 124,140 0
= 86,898
Al 37,242
01 AR 2Z A5l 3 124,140 124,140 0
O ots& <X &A= 124,140
= 86,898
Al 37,242
HASE OlsSMAMY E - BFL(BEXAY) 162,773 49,439 113,334
Al 101,733
- 61,040
301 LEd = 162,773 49,439 113,334
Al 101,733
- 61,040
01 MI2EZE 6= 162,773 49,439 113,334
O MNASE Ols234 E-25¢ 162,773
Al 101,733
- 61,040
NASE Ols24 EY - Ss(BXAY) 534,471 227,926 306,545
Al 250,533
T 283,938
301 LEEAZ 534,471 227,926 306,545
Al 250,533
T 283,938
01 MEIBZE 05z 534,471 227,926 306,545
O HASE OlS3A BY - wa 534,471
Al 250,533
- 283,938
OlSStHEAISSa A FA 12,560 0 12,560
201 Let24d] 11,160 0 11,160
01 At 2teltl 8,400 0 8,400
O 6. 2x= 8,400
— ST AL I E S X
700,000 » 10H » 128 8,400




2N
D ors=EX B8

el

X ZH
S =

EPARSE )

2ES0ls AESH

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
02 2224 H| 2,760 0 2,760
O1. 2222 % HMA 1,320
— S XANE MSRZ 40,000 » 204 ~ 12&€ 960
—OtsstiialnEE M2
30,000 ~ 1C4 ~ 12& 360
O 4. X - Aey| 1,440
—SEEXIAMNLY SO (L)
1,500 = 804 * 1CH = 12& 1,440
307 gizto| A 1,000 0 1,000
01 o222 1,000 0 1,000
O simaiols =2 =l 100,000 = 103 1,000
405 XtoHE S| 400 0 400
01 XAt = ZEF S HI 400 0 400
O Ol=SsH ZAIE2 IEIAIE 400
— OISt malXH(EL0tE) IHAE
400,000 = 124 400
el0] =0l &dl2el 3,000 3,000 0
401 Al HIZL 2 0HY| 3,000 3,000 0
01 Al&H| 3,000 3,000 0]
O OEol=0lE 1A B 2 X122 3,000
CetHeEsAd(EXIH)(EXAY) 340,000 138,394 201,606
= 45,000
Al 25,000
- 270,000
401 AlEHIZL 2 0HY| 320,000 100,000 220,000
= 25,000
Al 25,000
- 270,000
01 Al& H| 320,000 100,000 220,000
O teNnssdy cel2dadl 320,000
—UENEsEEMdH 458 2|29 d ZA 270,000
= 25,000
Al 25,000
- 220,000
—UeHN=s=284dH 588 2l29d ZA 50,000
405 X+ &3 S| 20,000 0 20,000
= 20,000
01 AL 2 FF S| 20,000 0 20,000
O tenss4de I XM 20,000
= 20,000
CIEHESEANY 2 (BXAY) 66,200 48,080 18,120
= 8,100
Al 8,100
- 50,000




P ESANE AL

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
307 glz2tol & 66,200 48,080 18,120
= 8,100
Al 8,100
- 50,000
10 ALl SXAIEEE2EH EX 66,200 48,080 18,120
O LENsSsdH 249l 16,200
—JIE GgNssde 224
300,000 * 30H A + 12& 10,800
= 5,400
Al 5,400
—Ad7 OGENsSsdE 224
300,000 * 20 + 9& 5,400
= 2,700
Al 2,700
O UENEssdH 2 (24l)
10,000,000 * 5J4 & 50,000
CGEHsSS At o124l X2 (BEAY) 247,320 0 247,320
= 118,260
Al 118,260
T 10,800
307 21201 A 247,320 0 247,320
= 118,260
Al 118,260
T 10,800
10 ALSISXAIEEE2GHEX 247,320 0 247,320
O UEH=SSHH 2] 236,520
—JIE GENssSdH 22
4,380,000 = 3 A + 12& 157,680
= 78,840
Al 78,840
—4d7 TGENssSdE 22
4,380,000 * 2JHA = 9 78,840
= 39,420
Al 39,420
O UENSsSHEH SAR FHgAH XA 10,800
—JIE TGENSsdE SAL 2HsAH X
# 100,000 » 3HA * 2 * 12& 7,200
— A7 TGENESSHE SAR HAHSAYH|
100,000 *» 2IHA + 2% = 9F 3,600
OtS &S A EZLAS 30,000 0 30,000
201 L2l 9,000 0 9,000
01 At 22l 7,500 0 7,500
O otsdel s2Z2HE 29 1,000
O otsdel 2223 M 3,000
O Ots&stuaN S A 1,000
O otsdel s 2949 2,500




SH SNEHY
o Ols=x S

o9l RES0lE AWK (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 1,500 0 1,500
O s+ 29 1,500
203 YR =2t 500 0 500
03 Al =AY R =& 500 0 500
O OlSZESZA d2F2 500
207 51 OH £ Hl 20,000 0 20,000
01 2284 20,000 0 20,000
O OtsHCIAEEZAL R EH 20,000
301 LEEAZ 500 0 500
09 HALAHIX RS 500 0 500
O OtsEWII- A X& 500
Ots =g At 8,224,950 8,224,950 0
= 6,579,763
Al 1,151,808
- 493,379
ots+4g N=(BXAY) 8,222,979 8,222,979 0
= 6,578,383
Al 1,151,217
- 493,379
301 LA F 8,222,979 8,222,979 0
= 6,578,383
Al 1,151,217
T 493,379
01 AR 2Z A5l 3 8,222,979 8,222,979 0
O Ots=¢ 8,222,979
= 6,578,383
Al 1,151,217
T 493,379
Ots+Y XNAMAMEFE(SEAY) 1,971 1,971 0
= 1,380
Al 591
201 ¢er24| 1,971 1,971 0
= 1,380
Al 591
01 At 22/l 1,971 1,971 0
O Ots=Y XXMALFZ 1,971
= 1,380
Al 591
CYAERE 2F 188,200 180, 195 8,005
= 134,560
Al 16,820
T 36,820
FAHNES OlSSSHMUIA NA(BEZAY) 168,200 160, 195 8,005
= 134,560




SN =SXHHD

3 oks=EN s

o

Cel: CUARE 29 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 16,820
T 16,820
201 LBH2E| 162,240 165,045 7,195
= 129,792
Al 16,224
T 16,224
01 At 22l 153,240 147,245 5,995
O SEYAEEMNH 2%t 7,000
= 5,600
Al 700
- 700
O XSFAE EE S 5,000
= 4,000
Al 500
T 500
O &=l 350,000 * 4H 1,400
= 1,120
Al 140
- 140
O 3= 100,000 * 203l 2,000
= 1,600
Al 200
T 200
O SEE2EAAE sXl2eldl 540
o 432
Al 54
- 54
O Zz0dy 29| 133,460
= 106,768
Al 13,346
T 13,346
O AAS I 8,000 = 88 54l » 128 3,840
= 3,072
Al 384
- 384
02 8323l 9,000 7,800 1,200
O 3522 % MA 350,000 = 12& 4,200
= 3,360
Al 420
T 420
O AM&&HIS X 200,000 = 122 2,400
= 1,920
Al 240
- 240
O XUEKRA 22l 200,000 = 12& 2,400
= 1,920
Al 240
T 240
203 R =&l 2,160 1,350 810




2N

X{ XH -
S =

==

EPARSE )
Ots=EX B2

o

BAEBE 2

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 1,728
Al 216
- 216
03 AIEH =X H 2 F X Y| 2,160 1,350 810
O EHAEIEAIY 2d 2t 3]
0,000 * 18¥ * 43| 2,160
= 1,728
Al 216
- 216
301 et A =2 200 200 0
= 160
Al 20
- 20
09 HAIAHI XIS 2 200 200 0
O X3 SALX AR 10,000 * 20H 200
= 160
Al 20
- 20
405 XH&HF S HI 3,600 3,600 0
= 2,880
Al 360
- 360
01 XAt 2 FF S| 3,600 3,600 0
O EYAEEHMH HIE 3,600
—m2OEa TV 3,600
= 2,880
Al 360
- 360
FAHNE OlsSSAMHIA XE 20,000 20,000 0
201 et 20,000 20,000 0
01 AP 2t 2] H| 20,000 20,000 0]
O 0ots ¢ I delxzs K&
2,000,000 » 104 20,000
XNEOotsSHE XA 521,437 483,835 37,602
= 228,388
Al 263,012
- 30,037
EQR2Y X (XNASHEH)(EZALY) 7,296 7,296 0
= 3,648
Al 3,648
307 gizto| A 7,296 7,296 0
= 3,648
Al 3,648
10 MM SAANEEHESIGHEX 7,296 0 7,296
O ER2Y XE0tsdEH K& 7,296
= 3,648




P ESANE AL
P otssEA s
XS otSHE X3

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
| Al 3,648
XNE0tsSHyH T2 X (BEXAY) 11,400 12,240 A 840
Al 11,400
307 2Iz2t0| A 11,400 12,240 A 840
Al 11,400
11T A EXAIEEX 11,400 12,240 A 840
O XNY0otsHdEg T2 X 11,400
Al 11,400
OlS=E2XN WA A (K0S HEH)(EXZAIY) 66,200 63,652 2,548
= 31,720
Al 31,720
- 2,760
101 2121 H] 66,200 63,652 2,548
= 31,720
Al 31,720
- 2,760
04 JIZtHIZ22XNSE S 66,200 63,652 2,548
O XNY0tSHE OFsS=2XLAF Q29| 63,440
= 31,720
Al 31,720
O EXNEQE & HAHANWZ 2,700
O AZAH&EH| 30,000 » 2 60
XG0S HEH 29 XN (EXAY) 353,040 327,660 25,380
= 176,520
Al 158,868
- 17,652
307 QI2t0| ™ 353,040 327,660 25,380
= 176,520
Al 158,868
5 17,652
10 A SEXNAEEHESIH EX 353,040 327,660 25,380
O XNY0tsdEe 29 X34 353,040
= 176,520
Al 158,868
- 17,652
XGOS HE SAK HRMLHI(BEAY) 37,650 30,600 7,050
Al 31,050
- 6,600
307 2Iz2to| A 37,650 30,600 7,050
Al 31,050
- 6,600
11T A EXAIEEX 37,650 0 37,650
O XNYO0otsHdE SAX HRMAHI| 37,650
— AHI A& XKHA I 31,050
Al 31,050




P ESANE AL
P otssEA s
XS otSHE X3

SN HH-S(BN) - MBAY - B il HlnE2
— FHIXE HHLH
50,000 » 11E » 128 6,600
ANAOotsSHEH HHed (BEXAY) 1,741 1,595 146
Al 1,741
307 21240 1,741 1,595 146
Al 1,741
11 ALS S RAEE = 1,741 0 1,741
O XNEotsdEH WeHery| 348,200 * 500 £ 1,741
Al 1,741
LEXNA0SHEH XA (BEZAY) 12,392 12,392 0
= 6,196
Al 6,196
307 2I2+0 & 12,392 12,392 0
= 6,196
Al 6,196
10 ALSISXAIEEE2EHEX 12,392 12,392 0
S=XNS0otsdE X2 12,392
= 6,196
Al 6,196
NAEotsSHEH EHAMIIIE 2HH(EEAY) 1,610 1,300 310
Al 1,610
307 21201 A 1,610 1,300 310
Al 1,610
11T M3 SXASEEX 1,610 0 1,610
O XN4otsdH s4dXE 2| 1,610
Al 1,610
OIZtEs(ME=8) NE0tsSHEH X (BXAL) 8,400 7,800 600
Al 8,400
307 gl2tol & 8,400 7,800 600
Al 8,400
11T AS S RAEE = 8,400 7,800 600
O LES(MEss) NA0tsHHNRE
700,000 * 10 « 12 8,400
Al 8,400
ANEotsdH S#FMHd NA(EZAY) 12,100 12,100 0
= 6,050
Al 3,025
- 3,025
307 21240 12,100 12,100 0
= 6,050
Al 3,025
- 3,025
10 M SXNANEHEI2IHEX 12,100 0 12,100
O XN4EotsdH 3Md X2 12,100
= 6,050




2N
D ors=EX B8

el

X ZH
S =

EPARSE )

ANSorsdE X

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 3,025
- 3,025
ELZSNME [H90ISHE XNF(EXZAY) 7,308 7,200 108
= 3,654
Al 3,654
307 2Iz2t0| A 7,308 7,200 108
= 3,654
Al 3,654
10 AISIEXAIEHESIHIEX 7,308 7,200 108
So=Hy NAOSHE EIHNE 7,308
= 3,654
Al 3,654
KOS HE 212X D| XN (EXZALY) 1,200 0 1,200
= 600
Al 600
307 giztol A 1,200 0 1,200
= 600
Al 600
10 MM SAANEEHESIGHEX 1,200 0 1,200
O XNY0tsHEe 2238 JX&
600,000 * 2CH 1,200
= 600
Al 600
KNEOISHE EANEXNZAE(EXAY) 1,100 0 1,100
Al 1,100
307 2iztol A 1,100 0 1,100
Al 1,100
11T AISIEXAIEEX 1,100 0 1,100
O XNY0tsHESAMAE SXNEAE
100,000 » 11H 1,100
Al 1,100
HESHAY (EXNZH ™) 489,433 454734 34,699
= 162,056
Al 50,026
- 277,351
Ol SAH| (2 XA 1}) 347,470 296,528 50,942
= 162,056
Al 50,026
- 135,388
HAE Bs 4 3,520 3,314 206
101 Q124 4| 3,520 3,314 206
01 2 3,520 3,314 206
O dAEAStISSN OHE =22 3,520
— 63 12,002 * 1@ x 3Al2t = 35 ~ 128 1,297
—-72 10,841 = 1 * 3AI2F = 38 » 128 1,171




SH =SNEMY
M HY2IZH (SN D)
Chel: ol 2oyl (=X A M) (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 8= 9,733 = 1H » 3AIZt = 33 = 128 1,052
SE A ZEl AL A X (EZAY) 98,568 97,703 865
= 49,284
Al 24,642
T 24,642
101 @124 dl 98,568 97,703 865
= 49,284
Al 24,642
T 24,642
03 RIAHA2 2 RHE > 98,568 97,703 865
O SEAdIZelAF XI&(3%) 98,568
— SEAtA 2t 2l A 21 24| 98,568
Jl23 79,120
= 39,560
Al 19,780
- 19,780
=y = = 709,280 = 12& 8,512
= 4,256
Al 2,128
T 2,128
A2+l Y 1,936
= 968
Al 484
2 484
CEAEES 250,000 » 3% » 12& 9,000
= 4,500
Al 2,250
T 2,250
SEAtdl 2tel At elddl K& 35,901 21,045 14,856
101 @124 dl 35,901 21,045 14,856
03 RIAHAZ 2B+ 35,901 21,045 14,856
O SEAtellZtelAr XI& 35,901
— SE At ZelAL 212411 (3Y) 35,901
ZFAHZ A 130,000 » 3% = 12& 4,680
S0 240,000 » 3 = 128 8,640
- HEFOH 5,441
ARSI E 5,838
IESE 3,840
A2+l =G 4,211
A3 3,251
OtSSX WA A (XIGASSXAL QAH) (B ALY 25,800 31,351 A5,551
)
= 12,900
Al 12,900
101 @124l 25,800 31,351 A5,551




2AH: SRS
M HE2GFU (SN EH)
IH2HHI(SAE D) (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t

= 12,900

Al 12,900
03 RIAHAZZ2THE = 25,800 31,351 A 5,551

O XNGASI S XA 1A H| 2,150,000 = 12& 25,800

= 12,900

Al 12,900
tES X WAL IHA (KIS ALSI S XA @124 H]) 11,875 0 11,875
101 @14l 11,875 0 11,875
03 RIAHAAZZRHE > 11,875 0 11,875

O ZASAH 130,000 * 128 1,560

O ZFEHAHS 1,754

O Z2UEE0 120,000 * 128 1,440

O ARS8 FI==E 90,450 = 10 905

O 4= 1,055

O ts=¢ 120,000 * 128 1,440

O QAU F=ItH 2,955

O EI2AMgz Y AMIIBEFIHA 766
FAHNES OIS SSMUIA XA (AAHH)(EZALY) 124,840 113,112 11,728

= 99,872

Al 12,484

- 12,484
101 14 Hl 124,840 113,112 11,728

= 99,872

Al 12,484

- 12,484
03 RIAHAZ 2B+ 124,840 113,112 11,728

O Ot=SE Al ZelAl QA (4HEE Z &) 104,446

= 83,556

Al 10,445

- 10,445

O &E&Rgz 170,833 » 4% » 128 8,200

= 6,560

Al 820

T 820

O Al2tel=+=¢& 220,690 » 4% » 128 10,594

= 8,476

Al 1,059

- 1,059

O 22A=F 0 400,000 » 49H 1,600

= 1,280

Al 160

T 160
FANES OlSSSEMUIA XA (A 2A8])(KHA) 46,966 0 46,966
101 @14 Hl 46,966 0 46,966
03 RIAHAZ 22+ 46,966 0 46,966




2AH: SRS
M HE2GFU (SN EH)
Chel: ol oy (R M) SEREED
SN HH-S(BN) - MBAY - B il HlnE2
O FAHZ Al 130,000 » 4% * 12& 6,240
O Z2UEE0 200,000 » 4% » 128 9,600
O ZYEFOHI 1,790,280 * 4% 7,162
ORGP E =) e 92,280 » 4%  10€ 3,692
O 84&0iz 1,077,280 = 4% 4,310
O ts=¢ 360,000 = 122 4,320
O olZdl =t 9,020
O E&NEZ FItAH 752
O A2+l FItH 1,870
|[2Z U (SX&E ) 141,963 158,206 N 16,243
Jl2ZHl(SXE ) 141,963 158,206 A 16,243
201 £B-2d | 32,823 29,134 3,689
01 At 22l 32,823 29,134 3,689
O 1. g8t=2H| 20,680
—2HA2Z JIE2=EH| 3,000
-2 2=EZ 1,020
S 2 X 20,000 » 28 = 12& 480
JNR-APN 15,000 » 3% = 128 540
— SAEX 3,000
A4 20,000  1502f A 3,000
—ZgH | 2el 13,500
TelH Ed 250,000 = 9CH * 62l 13,500
— A3 &X 160
ags A3 80,000 * 24 160
O 5. =4l 9,984
— &3 Sl 8,000 » 26 « 44 128 9,984
O 6. 2x= 2,159
—SAMI = 153,000 » 1CH 128 1,836
—3J8E) gz 26,900 » 1CH 128 323
202 O4dl 97,440 112,320 214,880
01 =L 97,440 112,320 A 14,880
O 2 sZdl 97,440
— AR 20,000 » 2699 = 144 128 87,360
— NEAMBEE M 2HA
20,000 » 18 = 14 128 3,360
—IsE2sdYR¥
20,000 » 28 = 14 128 6,720
203 YR =] 8,100 8,280 A 180
01 J22F PR =8| 3,300 3,300 0
O sX&Z=2% 3,300,000 = 1H 3,300
04 FN2ELRZ=TH| 4,800 4,980 A 180




2AM: SXNEH
M HE2GFU (SN EH)
el J2dH(sXE ) (SHe &)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O =X& 400,000 » 12& 4,800
405 TtHabF S| 3,600 8,472 AN4,872
01 AL EFSHSHI 3,600 8,472 AN4,872

O AL 240,000 * 154 3.600




